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Bhai Parmanand Vidya Mandir
Maths. Assignment
Class- XI
Ch.8 Binomial Theorem

[ERN

— ~
. Using binomial theorem , expand (i)ﬁﬁ— —ME 2 G) E&x-3a)® (i) (x + 1_5 )

A

Using binomial theorem, prove that.

()  2°"—7n-1isdivisible by 49 ,a N

(i)  3*™2_8n-9is divisible by 64 , @ N.

(i)  3*"—26n -1 is divisible by 676.

Using binomial theorem determine which number is larger

(1.2)°%or 800 ?

Find the value of (1.039+ (1-0.01 ¥° correct to 7 places of decimals .

Find the value of for which the coefficients of the middle terms in the expansion of
(1+ ax )* and (1-ox )°are equal , find: .

6. Find the coefficient of kin (ax{+ bi y*and X’ in (ax— #)” and find the relation

x

w

o &

between a and b so that the coefficients are equal .
7. If the coefficients of x andin the expansion of ( 1+ X')1- x )"are 3 and -6
respectively. Find the values of mand n .

8. If the fourth term in the expansion of (a% ¥is 5 , then find the values of aand n .

9. In the binomial expansion of (a + b, the coefficients of the fourth and thirteenth terms
are equal to each other . Find n
10. Find the 11 term from the beginning and the™erm from the end in the expansion of

(2x—= ).

x'}.
1,20
)

11. Does the expansion of (2x-)?*°contain any term involving?

12. Show that the expansion of {+ 1/x }** does not contain any term involving.x
13. Find the middle term(s) in the expansion of (i}-x)*™* . (i) (3x —)'
14. Find the term independent of x in the expansion @E(+%ﬁﬁ Y8 x>0

15. If the coefficients of (2r+1Yterm and (r + 2Yterm in the expansion of (1+*pre equal,
find r

16. Prove that the coefficients of (r+1ferm in the expansion of (1+X}is equal to the sum
of the Coefficients of'tand (r+1¥' terms in the expansion of (1+x)
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........ (Zn—-1)

17. Prove that the terms independent of x in the expansion éf)f?ds 135 2",

18.If the coefficients of ¥ 3 and 4" term in the expansion of (1%gre in A.P , then
Show that 2f 9n +7 = 0.

19. If in the expansion of (1+ %), the coefficients of pand §' terms are
equal , prove that p+q = N+2£Q .

20.1f 3", 4" 5" and &' terms in the expansion of (x+a)" be respectively a,b,c and d .

bl—ac 5a

cX—bd = I

21.1f 6™, 7" and &'terms in the expansion of (x+faye 112 , 7 and ¥ resp. Find x,a,n

22. Find a, if the coefficient of%and X in the expansion of (3+ akre equal .

23. Find the coefficient of ain the product (1+ 2&) 2-a) .

24. Find the coefficient of %in the expansion of (1+3)+ (1+xf? + ........+ (1+x)%°.

25. If in the expansion of (1x)*™* , the coefficient of kis denoted by,athen Prove that
&-1+anr=0 .

26. The binomial coefficient of the third term from the end in the expansion®6f« y°'*)"
Is 91 , find §' term of the expansion .

27. Find the coefficient of ¥in the expansion of ( 1+ 3x + 3% x* ).

Prove that

Answer key:

1 () 5-65+15°20+15- 65 +5.
(ii) x>~ 6 X% + 15X7a® - 20 ax +15 X*a* - 6x°%2° + &

(iliy X3+ 3 -5 +5 — =

3

3.800 4.2.009042 5.0=0,-; 6. ab=1 7.m=12,n=9 8.$=,n=6

o &

9. 15 10°%Ci (%), -PCis(5&) 1L.No 13.0) (IP™Cox, (-1)*. 2", 2

x

(i) ~EBExTxr TETT g4 L 1514 21.n=8,x=4 4= 23-438
24.  31G-%'Ce
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